Math 4. Classwork 25

Review of operations with fractions:

Fraction addition: > + 2
12 15

1. Find common denominator, which 1s LCM.
2. Add, simplify if needed.

5 ,2 _ 55, 24 2548 33 33 3 11

J— _=_+___ _—

12 15 60 60 60 60 60 3 20
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Fraction subtraction: 3 T

1. Find common denominator, which is LCM.
2. Borrow 1 if needed,
3. Subtract, simplify if needed.

2 5 _ .24 55 _ .8 25 _ .68 25 _ 43
15 12 ~60 60 60 60 60 60 60
. e e 3 2
Fraction multiplication: it

2 3
3 4-

N

1. Multiply numerators and denominators:

w

2. Simplify by using number prime factorization: % - g =
2

. e e 1
Fraction division: 5 - 3=

school
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1. Find a reciprocal (inverse) of the divisor. Reciprocal of 3 IS 2.

2. Turn division into multiplication and simplify by using prime factorization:
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Exponents review:

bn X bm — bn+m

(b%)* = (b-b)*=(b-b)- (b b): (b b) = b*? = b

(bn)m — bn-m

(a-b)>=(a-b)-(a*b)-(ab)=a-a-a-b-b-b=abh?

(a-b)" = a™b™

n 1
a’ ' =—
(Ih

1. Compute: (Remember the common denominator is LCM, borrow 1 from the wholes if needed, DO
NOT convert the entire whole number into a fraction.)

5 8 1 5
(@) 45— 5= (b) 1o +—=

2. Compute: (First make all fractions irregular, then multiply)

9 4 3 7
@ = == (b) 32+, =

3. Compute: (First make all fractions irregular; then divide)

1.1 4 11
(@) 15 +25= ® 5 57
4. Compute:
23.32. 48 25 211

210 .36 - 2-5 2



Geometry:

We have discussed congruent objects. Two objects are congruentif ........

Congruent or Similar?

So, if the shapes become the same:

When you ... Then the shapes are ...

... only Rotate, Reflect and/or ﬂ Congruent

Translate

... also need to Resize $ Similar

Congruent Triangles Rules : ( = Congruent symbol)
1. 3 Sides are equal (SSS) b a
c
2. Side Angle Side are equal (SAS) /
A
c
3. Angle Side Angle are equal (ASA) \A B/
' C
3
C
4. Angle Angle Side are equal (AAS) VA




Angle Angle Angle (AAA): When three angles of the triangles are equal, we can say that the two
triangles are similar triangles. That is, the corresponding angles are having equal measurement.

Area of a triangle.

SA=§h><a

The area of a triangle is equal to half of the product of its
height and the base, corresponding to this height.

For the acute triangle it is easy to see.

S'=hXa=xXh+yXh

Spax = Eh XX, Saxpc = Eh XYy, Spapc = Saasx + Saxsc

SAABC=§hxx+§hxy=§h(x+y)=§h><a

For an obtuse triangle, for one out of the three heights, it is
not so obvious.

SAXBCZEhxxr SAXBAZEth

C 1
Saapc = Saxpc — Saxa =§h Xx—zh Xy
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	Congruent or Similar?

